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13 GDP Pearson —2
1
GDP RPI GDP RPI
95.2 10.3 116.0 98.3 7.2 96.7
95.3 9.8 114.4 98.4 7.8 97.3
95.4 10.5 108.3 99.1 8.3 96.8
96.1 10.2 107.7 99.2 7.6 96.6
96.2 9.8 105.9 99.3 7.4 96.9
96.3 9.6 105.0 99.4 7.1 97.0
96.4 9.6 104.4 2000.1 8.1 98.1
97.1 9.4 101.7 2000.2 8.2 98.1
97.2 9.5 100.8 2000.3 8.2 98.3
97.3 9.0 100 2000.4 8.0 98.5
97.4 8.8 98.8 2001.1 8.1 99
98.1 7.2 98.8 2001.2 7.9 99.5
98.2 7.0 97.0 2001.3 7.6 99.4
RPI
2
GDP -1 -2 G -3 G -4 G -5
RPI .836 .852 .879 .843 .801 740
G -6 -7 -8 G -9 G -10 G -—-11
RPI .661 .567 449 264 - .102 — .624
G —-12
RPI - .594
Pearson GDP 1—4 GDP
RPI 5—8 GDP RPI
1—4 GDP RPI
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Vi GDP X RPI u;
BDP R™=0.736
R™=0.724 0.05
U W—D 1.015
G -2 RPI
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